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'What are the five major classifications of the polymer industry? Write

at least two polymer examples for each classification.

R (15 5
What would be the number average and weight average molecular
weight of a sample of propylene oligomer that consists of 5 mol of

pentamer and 10 mol of hexamer?
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series of solutxons of polystyrene in toluene were
e esults obtained are summanzed below in

0 20 40 60 80 10.0
sy 558 6.15 647 735 798 8.64

A (10 4)
Tg of nylon 6,6 is about the double to that of polyester of comparable
chain. Why?
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HAE (10 4)
Plasticizers make the polymer flexible and rubbery. Why?

WA (15 4
Compare ion polymerization and free radical polymerization.
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‘The solubility parameter value for the solvents n octano
n-butanol( § = 11.4) and methanol ( § = 14 5) show amcreasmg
trend. Why?

HAA (10 7))
How many methods can be used to determine the number average
molecular weight ?
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